TECQ

IE4 {EERAER

{EC B2 — 7 5K & 55 2

h

AEHF4E %35l
AEUF4E %3l

Energy Conservation / Emissions Reduction / Intelligence / Automation







01-02 2= oo 4 R0 B AR AR
03 MR

NRE
04-07 AEHF4E %3]

08-11 AEUF4E %3l



| EESENHMEER

2023 £ 7 Bt - MARAAEF LB (AL HERFIFNT IE4 BEREFRAIME - B 2019
F10 B 25 HAM 7 ARGEENZEZIRAI (EC) 640 FIERT4R /2009 - ZEE %I (EV)
2019/1781 HEE 8 WMHEANBREZAIFHFE (0.12 kW - 1000 kW ) B ¢V HIEEK - WEEER
CoERIBL IE2 EEINESRRR BN IE3 BZSK - IESh - BKFE B2 MEIRRMERAEREE 0.12
kKW A 1000 kW ZfE - B 2023 Fi#E - 75 kW £ 200 kW 7 EHER BN HEERFEEE IE4

Ny

BERNEEAR -

- 01/07/2021:0.75 kW ~ 1000 kW RIFF B BiERR S IE3 A
- 01/07/2021:0.12 kW ~ 0.75 kW HIPR 5 &1 8
- 01/07/2023:2 ~ 4 ~ 6 #&x 75 kW £ 200 kW HIPFBEHER S IE4 IE3

RHEAMHFRERY - KRB 2022 F£ 9 BT 4
ENEEBIIE S - i ED 6 KRS - 45 IRENREIEHE -
HMETR BFE - T BB RfEES K 2

Bl HPRITEHE—AEMEHREERK
B EETURER - FREIREEIEEEL IE3
’ITZE IE4 - BDHFERESAIE -

| AEHF4E %3145%

. BERUER

>
0.12 0.75 75 200 375 1000

Pn[kW]
BR3E 2023 £ 7 A 1 BEEMBENERAE

FEERETZEEMRE IEC60034-30-1:2014 FRE Y IE4 BEMER - EEE - O AER

DENHAZ, -
. ERBRERS

BUE - BKRD - oIRABNNE - BIREBEERNLTED VS - REKIREEFUE

B EAERENIHERE -
o BAXK - BIEERRE

TREEZARIE IPS5 - BEEHEUBHE XSRS -

- HGERE
i Ihar - BEIMA -
- EiiEE

ZxMHERE -

ZERTHEBEGE - HAERA IEL - IE2 - [E3 BiE<E o/ 5# -

BRESR

Z R
AozzeEASERIEEEHEEZEM -



REIRE

R —HEENREEE
AT KB IEC 60034

220V, 380V

60HZ

1-125HP

3600 - 1800 RPM. (2 - 4 1)

EERATE (S1); 60Hz B S.F. 1.15

80 - 250MC
EEEAA (IP55)
EEAME®HINGLAN (1IC411)
Shi -15to 40°C
B 1000 ARLLF

R EwEE) - 8 218 30HP( = ) IR - ERE RS

HES% 250 R - EEFAMNEURIREREMA - HEMESRATRE MR -
ERETRATURIREA -

BESMREAE EEEREOS - WHEIF 90°TeBELE -
ARSI RZURERELA - BERAWEER -

FhsmERIE - IRIRAKME - ERERBEE Munsell 7.5B 3.5/0.5

3% |EEE-112 75X B E A2 BERRIEN A

EFHA S.F. 1.0 5 - 1255 180M LUR 80°CLAF ; 4E5% 180L A £ 105°CLBLF
120% BRE RSB 2 NiE

BEERME 160% BREEAERE 15 ¥




15 M R AEHF4E / AEUF4E IE4 (S.F. 1.15, 220V, 380V, 60Hz)

LS ThEEE i £
o, % % MEER (A) RAEn b e =’
ﬂ L o Ei | 255 i
75.0

100% | 75% | 50%

BH | BH | BH

"

625 289 1.67 25 0211 335 300 380 0.006

3470 80 825 835 815 825

Lo 1745 80 855 850 83.0 710 615 480 324 188 29 0419 420 360 430 0.013
3500 90L 865 870 865 845 780 665 539 312 54 0417 310 300 385 0.012

2 1750 90L 885 88.0 87.0 775 695 565 574 332 51 0.835 295 250 395 0.023
3510 90L 885 885 87.0 835 765 645 781 452 80 0610 310 300 450 0.014

P 1765 100L 91.0 905 890 790 735 620 803 465 76 1.214 260 220 335 0.054
3525 112M 895 900 895 900 865 785 121 6.98 138 1.022 305 240 420 0.046

> 1750 112M 910 905 905 83.0 785 685 129 744 121 2.059 235 175 315 0.083
3540 132S 90.2 915 905 855 825 740 187 108 154 1.513 235 175 305 0.075

e 1770 132S 924 920 910 80.0 73.0 605 195 113 193 3.027 355 255 395 0.143
3525 132S 917 915 910 860 825 740 250 144 198 2.072 285 235 330 0.075

07 1770 132M 924 925 915 835 775 670 255 148 253 4127 325 240 375 0.173
3540 160M 924 920 915 905 89.0 840 345 20.0 286 3.027 240 190 285 0.183

B 1770 160M 936 930 925 825 77.0 665 374 216 330 6.053 285 215 330 0.367
o 15 3550 160M 924 93.0 920 900 875 810 473 274 440 4115 295 235 350 0.205

1770 160L 941 935 93.0 84.0 795 695 498 288 440 8.254 300 270 325 0.460

3545 160L 93.0 932 925 900 875 810 580 336 550 5.083 305 240 345  0.237
25 185

1775 180M 945 945 940 855 820 735 601 348 495 10.15 275 225 300 0.707

3555 180M 93.0 935 925 900 885 815 69.0 399 655 6.028 285 220 370 0.330

02 1780 180M 945 945 935 830 795 705 736 426 589 12.04 245 190 275 0812
3550 180L 936 93.8 935 920 905 86.0 914 529 836 8231 280 215 305 0434
0% 1775 180L 95.0 945 940 840 805 725 987 57.1 770 1646 250 190 270 1.005
3565 200L 941 940 935 905 89.0 84.0 114 66.0 957 10.11 170 155 310 1.131
0 1780 200L 954 952 945 860 83.0 75.0 118 68.5 924 20.25 220 195 270 1.896
3560 200L 945 942 935 905 900 86.0 138 79.9 1188 1231 175 160 300 1.300
0 ® 1780 200L 954 952 945 845 815 735 146 848 1095 24.62 220 185 275 2.061
- 3570 225S 945 950 945 910 90.5 87.0 168 97.2 1309 15.01 165 160 290  1.547

1785 2255 958 955 945 86,5 845 785 174 101 1441 30.01 290 255 270 3911

3570 250S 950 945 940 885 87.0 820 234 136 1700 20.46 135 125 295  1.847
100 75
1785 250S 96.2 950 940 865 835 76.0 237 137 1940 4092 170 165 300 5.752

3575 250M 954 948 935 89.0 870 820 278 161 2800 2452 155 140 330 2287
125 90
1785 250M 96.2 956 952 870 83.0 75.0 282 163 2840 49.11 230 215 365 6.111

NOTE

1. FER A AWK HE IEC60034-2-1 - 4 BEEMER  MNX  DXRY - BF  BEAE ; EREHREERRLE -
2. RAREEREREESTIINEE - 5. P RITEESER -

3. AZEKIE IEC60034-1 - 6. PHHEERZE - BASTEM -



R~ & AEHF4E

EAZtHIZ5¢ (B3; IM1001)
1E%% 80 ~ 132M

ab

H18

. rﬁ? TTEEEF &

! ! #KK HOLE Ak | aal] 4 |
LE J_ B e | B / A e | . I e | e i—d KK nmp,i
BB i—¢#K HOLES AR " BB o 4+—9K HOLES/
T+
o -@1-3
."j
DH TAFP A M 0
Fig .1 Fig .2
[ E4I : mm]
gt (HP)
AE BB C HA
1 1 80 125 32 155 175 144 112 100 130 50 80 6.5 168 - 55
FIG. 1
g 2 90L 140 30 170 199 157 125 125 150 56 90 75 190 - 65
- 3 100L 160 35 195 219 180 145 140 175 63 100 8.0 - 240 71
5 5 112M 190 40 224 236 189 154 140 175 70 112 9.0 - 262 83
FIG. 2
71'3 75 1328 216 42 250 273 225 180 140 175 89 132 110 - 308 83
- 10 132M 216 42 250 273 225 180 178 212 89 132 110 - 308 83

HESIR

MRS
K | Kk | L | LE

DOODEOEIEIET

80 Y10 7~12 2820 920 155 215 M6x12  62047Z 620477
90L Yl 7~12 3325 1015 24 50 32 8 200 270 M8x16  6205ZZ 620577
100L  ¢l2 7~12 3745 1115 28 60 40 8 240 31.0 M10x20 6206ZZ 620577

112M  y¢l12 7~12 3910 1210 28 60 40 8 240 310 M10x20 6306ZZ 620677
132S 12 18~25 4540 1450 38 80 64 10 33.0 410 M12x24 6308ZZ 630622
132M @12 18~25 4920 1450 38 80 64 10 33.0 410 MI12x24 6308ZZ 6306ZZ

NOTE
1. #IRE€ D AZ : ©19~28 :j6, 938 : k6
2.9 @HAZE  +0,-0.5



R~ &

EAZtHIZe 2 (B3; IM1001)

tE5% 160M ~ 180L

AEHF4E

AD

e L
)
= 1 E =

= B 4%: PN

= | — i & )

L 3} s = L+ s Ol A0

vl | ] T .

Le | | 7B lle | & = F LE | | 8 | —

8 $KK HOLE AB e $KK HOLE/ AR
—2K HOLES/ __IL|__ +—¢K HOLES ———
L ~ | | £

i 5

en
pH Tap [ 0 i TAS
Fig. 3 Fig. 4 [ &7 : mm]
(3 @ H | HA

;: 15 160M . 254 50 300 334 263 218 210 250 108 160 18 377 108
25 20 160L 254 50 300 334 263 218 254 300 108 160 18 377 108
30 - 180MA FIG. 4 279 75 355 382 305 250 241 335 121 180 22 431 119
- ;(5) 180MC  FIG.3 279 75 355 382 305 250 241 335 121 180 22 431 119
40 - 180LA FIG. 4 279 75 355 382 305 250 279 389 121 180 22 431 119
- 40 180LC FIG. 3 279 75 355 382 305 250 279 389 121 180 22 431 119

0 i ]~ B 72K

ﬂnnm
42 110 80

12

160M y14.5 1825 608.0 180.0 0.0 37.0 45.0 M16x32 630922 630722
160L P14.5 18~25 652.0 180.0 0.0 42 110 80 12 37.0 45.0 M16x32 630922 630722
180MA  14.5 31~41 710.0 238.0 19.0 48 110 80 14 425 515 M16x32 631172Z2C3 6310Z22C3
180MC 145 31~41 710.0 238.0 19.0 48 110 80 14 425 515 M16x32 6311722 63102z
180LA P14.5 31~41 764.0 254.0 27.0 55 110 80 16 49.0 59.0 M20x40 631272C3 631022C3
180LC Y14.5 31~41 764.0 254.0 27.0 55 110 80 16 49.0 59.0 M20x40 6312722 631022
NOTE
1. #IR1E D AZE : @42~48 : k6, 55 : mb

2. B0 H

/Z)\\
NE: +0,-0.5



R~ & AEHF4E

BAZCIIZ2 58 (B3; IM1001)
#E%% 200L ~ 2255

L AD
ED

i

ti&;
M |
LE | i |le | & ] a !
! ! ! L-—-|
EE ¢KK HOLE AE

4—3H HOLES/ LN
© ﬁ}jﬁ
DH Tapf. €0
Fig .3 [EEf7 : mm]

60 - 200LA 318 80 400 458 362 299 305 400 133 200 25 499 129
- :g 200LC FIG.3 318 80 400 458 362 299 305 400 133 200 25 499 129
75 - 225SA 356 100 450 510 411 337 28 415 149 225 30 550 153
- 75 225SC 356 100 450 510 411 337 286 415 149 225 30 550 153

sy
B K KK L LE
= o LE Lo lr L e [ohl on L aun  rann

200LA 185 44~51 809.5 2615 17.5 55 110 80 49.0 59.0 M20x40  6312722C3 621272C3

200LC  ¢18.5 44~51 839.5 2615 17.5 60 140 110 18 53.0 64.0 M20x40 63147z 621277
2255A 185 44~51 850.0 305.0 32.0 55 110 80 16 49.0 59.0 M20x40 6312Z22C3 621272C3

2255C {185 44~51 880.0 305.0 32.0 65 140 110 18 58.0 69.0 M20x40 63152z 62132z

NOTE
1. #iw7E D A% : @55~65: m6
2.9hEHAZE  +0,-05



R~ & AEHF4E

BAZCIIZ2 58 (B3; IM1001)
1E%% 250S~250M

ED A

[ B4 : mm]

Bt (HP)

100 - 250SA 406 110 500 545 499 384 311 425 168 250 32 612 139
- 100  250SC . 406 110 500 545 499 384 311 425 168 250 32 612 139

125 - 250MA 406 110 500 545 499 384 349 480 168 250 32 612 139
- 125  250MC 406 110 500 545 499 384 349 480 168 250 32 612 139

o[ Jal T Tal o Lo fonen
2505A 66~77 8905 3015 19.0 49.0 590 M20x40  6313C3 63133
2505C 24 6677 9205 3015 19.0 75 140 110 20 67.5 795 M20x40 I:f;ll% 6313
250MA (24 66°77 947.5 3205 28.5 55 110 80 16 490 59.0 M20x40  6313C3 63133
250MC (24 66777 9775 3205 28.5 75 140 110 20 675 795 M20x40 ;3111% 6313
NOTE

1. #iR#E€ D A% : @55~75: m6
2.0hEHAZE +0,-05
3. BAES SR TS BN IS E AR



R~ &

AEUF4E

U DIABZE - #Eh (V1 IM 3011)
&5 80 ~ 132M

LA

| I
||';.']f_||[l

i a F
v BTN, < =+t
' ,,-El b <|
- ol 1 _,,-*'U
8 oH TAPd 2D
4—3& HOLES
Fig .1 Fig. 2 [ B8 : mm]
)
HESRE Bl
LA
1 1 80 FIG.1 12.0 177 144 112 - 7712 282.0 242.0 60
; 2 90L FIG. 2 12 165 130 200 12.0 3.5 200 157 125 - 7712 371.5 3215 113
- 3 100L FIG.1 16 215 180 250 145 4.0 219 180 145 140 7~12 374.5 3145 88
5 5 112M FIG. 2 16 215 180 250 145 4.0 238 189 154 150 7~12 431.0 371.0 135
715 7.5 1328 . 20 265 230 300 145 4.0 273 224 180 169 18~25 454.0 374.0 97
- 10 132M 20 265 230 300 145 4.0 273 224 180 169 18~25 492.0 412.0 116

#him R ~f
o [ Tol T Tol o e Lonen
80 155 215 M6x12 620422 620422
90L 24 50 32 8 20.0 27.0 M8x16 620522 620522
100L 28 60 40 8 240 31.0 M10x20 62062Z 620527
112M 28 60 40 8 240 31.0 M10x20 630622 620622
1325 38 80 64 10 33.0 41.0 Mi2x24 63082z 630622
132M 38 80 64 10 33.0 41.0 Mi2x24 63082z 630622
NOTE
LB D A% : 919~28 : j6, 938 : k6
2. BIEEN AE : j6



R~ & AEUF4E

U DIABZE - #Eh (V1 IM 3011)
tE5% 160M ~ 180L

Bt

[ He [T
1

\

L—F'

F.e

O

Fig .3 Fig. 4 [EEfI : mm]
<HP> B

HESRE &5 AC
LA

;g 15 160M 18.5 334 263 218 217 18~25 608 498 151.0

FIG. 3
25 20  160L 20 300 250 350 185 5 334 263 218 217 1825 652 542 173.0
30 - 180MA FIG. 4 20 350 300 400 18.5 5 382 305 250 241 31~41 710 600 189.5
- ;g 180MC FIG.3 20 350 300 400 185 5 382 305 250 241 31~41 710 600 189.5
40 - 180LA FIG. 4 20 350 300 400 18.5 5 382 305 250 241 31~41 764 654 216.5

- 180LC FIG. 3 20 350 300 400 185 5 382 305 250 241 31~41 764 654 216.5

B
m:m--m
160M 37.0 45.0 M16x32 630922 630722
160L 42 110 80 12 37.0 45.0 M16x32 630922 63072z

180MA 48 110 80 14 425 515 M16x32  63112ZC3 63102zC3
180mMC 48 110 80 14 425 515 M16x32 63112z 63102z
180LA 55 110 80 16 49.0 59.0 M20x40 63122ZC3 6310zzC3
180LC 55 110 80 16 49.0 59.0 M20x40 63127z 63102z
NOTE

1. 8RS D A% : @42~48 : k6, 55~65 : mb
2.3IBENRE: j6



R~ & AEUF4E

U DIABZE - #Eh (V1 IM 3011)
tE5% 200L~225S

-

II'H‘ Molasw

Fig. 5 [EEf7 : mm]
i (HP) T8 R
HESTR Bl HB | KK L LB | LD

LA
23 - 200LA 18.5 458 362 299 286.0 44~51 809.5 699.5 212.0
- 28 200LC FIG.5 20 400 350 450 18.5 5 458 362 299 286.0 44~51 839.5 699.5 212.0
75 - 225SA 22 500 450 550 18.5 5 510 411 337 312.0 44~51 850.0 740.0 222.0
- 75 225SC 22 500 450 550 18.5 5 510 411 337 312.0 44~51 880.0 740.0 222.0

! B

S oL Tol T Tol o | nua Lonen
200LA 49.0 59.0 M20X40 63127zZC3 62127ZC3

200LC 60 140 110 18 53.0 64.0 M20X40 63142z 6212727

225SA 55 110 80 16 49.0 59.0 M20X40 63122ZC3 621272C3
225SC 65 140 110 18 58.0 69.0 M20X40 63152z 62132z

NOTE
1. 8% D A%Z : @55~65: m6
2.5 BB NRE:j6

10



R~ & AEUF4E

U DIABZE - #Eh (V1 IM 3011)
&5k 250S~250M

Fig. 6 [EEf7 : mm]

B (HP) T2 R

2SR | ESk HB | KK | L | LB | LD

LA

100 -  250SA 18.5 545 499 384 329.5 6677 890.5 780.5 201.5
- 100 250SC a0 22 500 450 550 18.5 5 545 499 384 329.5 66~77 920.5 780.5 201.5
125 -  250MA 22 500 450 550 185 5 545 499 384 329.5 66~77 947.5 837.5 230.0
- 125 250MC 22 500 450 550 185 5 545 499 384 329.5 66~77 977.5 837.5 230.0

s R ~T B 7K
HESR
o[ Tol Tc ol o | nun onmn
250SA 49.0 59.0 M20X40 6313C3 6313C3
250SC 75 140 110 20 67.5 79.5 M20X40 *6316 6313
' ' NU316
250MA 55 110 80 16 49.0 59.0 M20X40 6313C3 6313C3
250MC 75 140 110 20 67.5 79.5 M20X40 *6316 6313
' ' NU316
NOTE
L #1541 D A% : 955~75 : m6
2. BIEE N A% : j6

3. * B T BN R

11






TECQ
SRITE M

BhBE M EeE B

https://www.teco.com.tw/

E—SPEREZEREN (CN)AEHF4E_20240531
i@ T B BEEE SIEHBARE
1158itmEeRERA3-1531012 4076+ mAEEN) 6655318 B2 mEHERM K333 21

Tel: (02)6615-9111 / Fax: (02)6615-0933  Tel: (04)2317-3919 / Fax: (04)2312-3057  Tel: (07)566-5259 / Fax: (07)566-5269



